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Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i)  There are 22 questions in all.
(ii) All questions are compulsory.

(iii) Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

(v)  Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vi) Question numbers 21 and 22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(vii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.

1. HER % SR THI0T Sl Ficey ohi foheel a1 fergioarati s Soei@ i | T+3=1
Write any two features of rectangular rural settlement pattern in the world.

2. RIS W@ ¥ A SHEE % et S TR o [ I5T § g1 S 8 2 1
Which state of India has the highest percentage of population below poverty line ?

3. 9RA ¥ fFT TR & T ST §iF Sl ST H S T HH Fdl ¢ 2 1
Which type of roads provides maximum links in India ?

4. SR HT I, T T T ST ST ! HHT & SMER W FHT BT | 1
Classify rainfed farming on the basis of adequacy of soil moisture during cropping
season.

5. “®9 Y G Uk ST [depiad ST=Re STormmT § 9§ Uk & 7 =0 G ey | 1

“The Volga is one of the most developed inland water-ways in Russia”. Justify.
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faver TR T WIS WUEUT % WUl BF %, T o SRIeR STER 1 § ? Uh HRUT W Hiw | 1
Why has gathering little chance of becoming important at the global level ? Explain

one reason.

IRaeT Fe H At g yr e’ = €0
How is ‘node’ different from ‘link’ in transport system ?

THIHUT ITHANT ol Toheal i [rISeT3Tl Sl aui hifT |

Describe any three features of Konkan Railway.

I3x1=3

fEu T At 1 WEEEYEE 3T ST 3R 38 A 7T T ueei % sw e 114+2=3

o |

9.1) w%qqumﬁaﬁﬁaﬁnéwa%

. 10%:51),7 K
i ]

TEE ST I STHT T fAf@y |

(9.2) 3T &Y &l Tl IR fowuareti 1 Seoig Sty |

Study the map given below carefully and answer the questions that follow :

10Km . ~
12 i

(9.1) Identify and name the canal shown in the map.

(9.2) State any four features of this canal.

e ; Frafefad uee Saer gieantaa whenfamt & ffu 9.9, 9 & @A W E
TEE Fei-Ae TG ST HAT bt feheel i fereiorenati st e i |

Note : The following question is for the Visually Impaired Candidates Only, in lieu

64/1/3

of Q.No. 9.

Explain any three features of the Great Lakes — St. Lawerance Seaway.
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10.  “Tepid 3R THa TS o € |7 SUgeRT ISRV Wied 30 o ol =g T ey | 3x1=3

“Nature and humans are inseparable elements”. Justify the statement with suitable
examples.

11. 9RA  “Jooll UTHOT SR 3 ORI UTHI0T SiEaal” H Sig aiF Sl T il | 3x1=3

Explain any three points of distinction between ‘Hamleted rural settlements’ and
‘Dispersed rural settlements’ of India.

12. TS 3G T AT 74T HIT 3T 9% A T T oo & SR feaf@w . 1+2=3

RS | 3TN W & ST H AR : 1960-61 4546

50+
‘E 454 21 2008-09
404
354
5 30- ’s
~ 25+
’Ezo- 18
ﬁls- . 12
5 -

T gl swa  mwwm gwam gwam s e
FAH  wEal  FwEEA e = =1 9y Erail e
EE Fopmar o7 adERwE o i
piicl ¥ afifva

|. 1960-61 Il 2008-09 | tr{Fﬁqiﬁ:"

(12.1) @ 9-39ar o | gaitys ghg & vgta o K@ 70 € 2 39 3y § @
iaated & J fohe= U H g g5 € ?
(12.2) 39 Gl | el g8 UG & foTT STRETr fhel J1 RO i T HitwT |

Study the given diagram carefully and answer the questions that follow :

=
£ 50+ Changes in Shares of Land-use Categories in India : 1960-61 4546
20454 and 2008-09
£ 404
= 354
2304
= 25+ 23
S 20 18
‘g 15 0 12 S
=5 3
E5 il em e o ol
Forest Area Barren Permanent Culturable Fallow Current Net Area
under and Pastures  Wasteland other Fallow Sown
Non- Waste- and than
agricultural  Land Tree crops Current
Use Fall
& 1960-61 Il 2008-09 alow

(12.1) Which land use category has shown the highest increasing trend ? What
percentage in reporting area has increased in that category, during the given
period ?

(12.2) Explain any two reasons responsible for the increasing trend in that category.
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e ; FAfciad 7o waet gieattaa adientemt & fofg ve e 12 % ©&IF W E
IRA | o ST & o ot & qa ifye dedt g8 wghd o1 St € 2 39 Sgdt g8 uagrd &

foTT SRerEr fohgl §1 RN hi SATEAT HIfST |

Note : The following question is for the Visually Impaired Candidates Only in lieu
of Q. No. 12:

Which land use category has shown the highest increasing trend in India ? Explain any
two reasons responsible for this increasing trend.

13, oI UGHUT SEATASTTd, WOt 3T gt o feld g aT-ehre aidr & 1 U Tl e godt
! AT FHIT A R & T 3 Sl TUOT TR T H FeTIF & qohl & | 3x1=3

“Air pollution is very harmful to flora, fauna and property.” Explain any three values
which can help in maintaining pollution free air to some extent.

14. HOR & fai= &= § yafeld I99T HT i [hwal Urd [GRiuaret sl gui i | 5x1=5

Describe any five features of plantation agriculture practised in different regions of the
world.

15. “9Rd | SEE B SAEAF TI0T; SHEE R Wiide T AmISTS 3MeE HRe & S
TS Ty Tohe AT & |7 UGS TR0 Hied T HAF Hi g HifT | 5x1=5

“An uneven distribution of population suggests a close relationship between population

and physical and socio-economic factors.” Support the statement with suitable examples.

S

16.  ToRIa ST TSP % o & foft STRem fhel ufer Reht T JuiT SifT | 5x1=5

Explain any five factors responsible for the development of ‘Gujarat Industrial Region’.

17.  31g S & 1 AW © 2 TSR 31y forT foRifs t 331e<0T |ied = Hiw 11 +4=5

What is age structure ? Interpret with example the triangular shaped age-sex pyramid.

18. e foehra 9 = AT € 2 /e faehr o T Sl ol faveluor shifse | 1+4=5

What is human development ? Analyse the four pillars of human development.

64/1/3 5 [P.T.O.



19.  “S@dl g8 AN & HROT A STe1 I STHH WHeT: AT i el a8l Al & 7 36 HoF &
foreteoT I |

“Scarcity of water on account of its increased demand, possess possibility the greatest
demand in India.” Analyse the statement.

20. 9¢ Y9M W T SH Aol S fati ferfaat @ gee b R € 2 SRt fetd @

qTTed i ot fohal T Shiehl ol T iU | 1+4=

Why do large scale industries choose different locations ? Explain any four factors
which influence the industrial location.

21. WER % U M0 qoHIqe 3@-aHes ¥ @ 10 o wimiias @& A, B, C, D 3R E i
TEa ST 3T 37 Tt 1 A" & T8 THHR 6 988 ¥ 39eh a1 @il T8 {@re W
foIfaT

(A) &TheT T FT T T ST 39
(B) Taied €U & W E &

(C) IR HEEdig Yo o i LI
(D) W F o

(BE) ST a1g g

Identify the five Geographical features shown on the political outline map of the World as
A, B, C, D and E and write their correct names on the lines marked near them with the
help of the following information :

(A) A large country of Europe in area.

(B) Anareaof subsistence gathering.

(C) The terminal station of a ‘trans-continental railway’.
(D) A major sea-port.

(E) Aninternational airport.

At : Frefefad w9 sheet gheataa whentmt & oy ue 9@ 21 % ©F W
(21.1) Y &F TG 3T A% et I HT AW @y |

(21.2) TaTes® Tl & fohdl U WE &7 1 919 farau |

(21.3) AETTATE U HEEU {9 o1 Hed Uiyeel 9 i | & 2

(21.4) =fyor SRR % qaT a2 T Fera Rt T T Ss TA S A e |
(21.5) 3TShHIhT o Hed STRIUTAAT SR a1 U< 1 919 feIfay |
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Note : The following questions are for the Visually Impaired Candidates only, in lieu
of Q. No. 21:

(21.1) Name the largest country of Europe in area.

(21.2) Name any one major area of subsistence gathering.

(21.3) Which is the westernmost station of Australian Trans-Continental Railway ?
(21.4) Name any one major sea port located on the eastern coast of South America.

(21.5) Name the southernmost international airport of Africa.

22. URA % U T TSI FE-THre | FEfaiad deTon i Suged foel 9 39 3T 36
W ferEu 5

i) w4

fereh TR T (2011) |
(il) HUTH HT SO IAEH T |
(iii) T T fer WitesEY At e |
(iv) DHTE § e Hige S e @ |
(v) THAeH B ferd ereaRised 9y oo |

Locate and label the following features with appropriate symbols on the given political
outline map of India :

(i)  The most urbanized state (2011).

(1) The leading cotton producing state.

(i1i1)) The Software Technology park located in Punjab.
(iv) The major coal field located in Chhattisgarh.

(v)  The international airport located in Karnataka.

e ; =TT U9 hae gieaTad ueTiedi & o wee 9@ 22 & ©H WE
(22.1) YR 1 Fad Afeeh TRIPd TT i T E 2

(22.2) 9RA % HUE & SO SCAEH T T A1 fA@T |

(22.3) USTE # ferd Siweaar Wi ars & 9 faRaw |

(22.4) SETE | T SiFct ® THE @ % T f@E |

(22.5) FAeH § e SR a1 U F AW @y |
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Note : The following questions are for the Visually Impaired Candidates only, in
lieu of Q.No. 22 :

(22.1) Which is the most urbanized state of India ?

(22.2) Name the leading cotton producing state of India.
(22.3) Name the Software Technology park located in Punjab.
(22.4) Name the major coal field located in Chhattisgarh.

(22.5) Name the international airport located in Karnataka.
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Map for Q. No. 21

U9 |, 21 % fow a=tas
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